
A.DAVIS
DRAWN SIGNATURETOLERANCE

AKP50650
PART DESCRIPTIONPART/PRINT NO.

001
REVISION

12/18/15
DATE

MATERIAL

POLYETHYLENE +/- .250 UNLESS SPECIFIED OTHERWISE

TRIPLE GARAGE BASIN

18 2212

66

39

3

4

8"X8" SQUARE
FLAT SIDE

36

10

13

2034 1734

PARTING LINE

8

8

9

26

13

2

4

18

8

8

2

5

DIMPLE
INLET/OUTLET

2034

1
4

22 22

1/4" RECESS

DIMPLE VENT
LOCATIONS

AK LOGO ENGRAVED
IN MOLD

COMMENT:
1.  THIS PRODUCT ACCEPTS 4"SCH40 PVC OR CAST IRON
PIPE
2.  PIPE MUST BE SEALED WITH EITHER A TRANSITION
GASKET OR CAULKING.

B.O.M.
PART# DESCRIPTION QTY.
AKR51060  SOLID STEEL COVER 3

AKR30100  1/4-20 X 3/4" BOLT 12

AKR50110  1/4" FLAT WASHER 12

AKR70150  3/16" X 1" GASKET TAP (3) 24" LONG

AKR20620  5/16" GASKET WASHER 32

AKR50840  5/16" NUT 32

AKR50800  5/16" X 1-1/2" BOLT 12

AKR50850  5/16" X 1-1/2" MS CS SLOT 20

AKR10160  2" CAST IRON HUB 3

AKR10180  4" CAST IRON HUB FLAT BACK 2

AKR10585  TRIPLE BAFFLE 2

AKR50070  1/4-20 ALUMINUM INSERT 24

9


	Model

